Puissances de Dix (C)

Trouvez chaque produit ou quotient.

49 - 10 = 54 - 10 =
10 =10 = 59 - 100 =
83 + 100 = 49 x 100 =
86 +10 = 31+-1000=
99 +-100 = 13+10=
14 x 100 = 22 +10 =
44 +-1000 = 89 x 100 =
79 X 100 = 95 +-1000=
8 X100 = 98 ~ 1000 =
84 x 10 = 20x 1000 =
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Puissances de Dix (C) Solutions

Trouvez chaque produit ou quotient.

49 +-10=49

10+-10=1

83 +100=0,83

86 +10=8,6

99 - 100 =10,99

14 x 100 =1 400

44 +-1000=0,044

79 x 100 =7900

8 x 100 =800

84 X 10 = 840

54 +-10=5,4

59 +-100=10,59

49 x 100 =4900

31+1000=0,031

13+10=1,3

22 +10=2,2

89 x 100 =8900

95 +1000=0,095

98 +-1000=0,098

20X 1000=20000
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